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Example Linear Programming Set-Up Problem

You are the head of a building department.  Your department is making final inspections of two types of new commercial buildings‑-gas stations and restaurants.  Final inspections involve the work of three separate inspectors:  a plumbing inspector, an electrical inspector, and a building inspector.  The plumbing inspector requires 4 hours to inspect a gas station and 2 hours to inspect a restaurant.  The electrical inspector requires 2 hours to inspect a gas station and 6 hours to inspect a restaurant.  The building inspector requires 4 hours to inspect a gas station and 6 hours to inspect a restaurant.  Considering the time required for other duties, the plumbing inspector has 28 hours a week available for inspections; the electrical inspector has 30 hours available; and the building inspector has 36 hours available.  You want to inspect as many commercial buildings as possible each week.  Set up this problem as a linear programming problem.


a) Define the decision variables.


b) Define the objective function.


c) Write out the constraints.

